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NOTE: Write same ques‘thh &nubmbe\“ _Lbj;;ﬂg_/.llr,@{: Lu/,iul/Jlrub/QB'dli %
- aiwéh \ﬂumber on answer book, as given in the question paper.

WJ\ NN SECTION-l Jilo
2. Attempt any six parts. 12=2x6 _gfgfaglﬁﬁl?.lgc;éf -fo}dfr
(i)  Write any two methods to conserve energy. 1+1 _.;’U.BT}»Langﬂ 0]
(i)  How electricity can be produced from solid waste? ?Q,JI_PJ(J/ LPC‘:L}{E_. il (i)
(ili) Which elements are called radioactive elements? ‘-UEZ_ML i |J:‘_CU)J/"V¢—U; (i)
(iv) What is multimeter? q__byuf/‘jl' (iv)
(v) Define induction. _EWSH )
(vi) Write any two steps for first aid administration. -.:"://._«Lwimﬁrb-‘ Lhlans} (i)
(viiy Write the name of any two information storage devices. c"://“}'tﬁ AnbtFimedy  wi
(viii) How the massages are transmitted by telegraphy? Y drdjd"/(futb’wd'fd’ (wviii)
(ix) Define protocol. Write the name of protocol being ?uj’%m-_)%ldﬁ’{;u;@ ul/’l. lslh f_.y /u(dfb{ (ix)

used in Pakistan.
3. Attempt any six parts. 12=2x6 ..g‘,’://uu_?ﬁlﬁ'wc..&f -3
()  Whatis nuclear fission? “Lu/u”/”fr (i)
(i)  What is degradation of envircnment? "r-_l,fu’/-lJ (i)

e ()
WA (v
el (et (V)

(i)  What is tidal energy?
(iv) Define transformer.
(v) Write two uses of A.C.

(vi) What is an explosion? SRRy e Ul (vi)
(vii) Define P-N junction dupd? T _éa_ﬂ/’J;yhuﬁu‘l (vii)
(viii) What is data managemeri *‘c_lf_.uu.‘.u L;: (wviii)
(ix) Define fax m FE{ i \W\ -qf—uf’;fu‘@’a (ix)
4. At\temppéh lsx Nl 12=2x6 Efeelizge 8 af)y
(i) e two characteristics of Alpha radiations. -gﬁ‘guuﬂ’:ﬂ/lduwi 0]
(i) What is meant by Hologram? ?%:/U;rfﬁ (i)
(i) What is the difference between E.C.G and C.T..Scan? 1+1 S JAV G35 # EC.G (i)
(iv) Write the use of laser technology for Military purposes. _ 2 LG AGIE D (iv)
(v)  Write any four ingredients found in sugarcane. 4.:_‘_’[%‘/’:!;?;:,6;'?_!;&.&.’&&&5 (v)
(vi) Define pharmacy. E A i)
(vi) Describe two objectives of SUPARCO. Euleaonl L (vi)
(viii) What is meant by Meteorology? ??Jyg;d:’;}f (viii)
(ix) When was SUPARCO established? Where is its headquarter? ?.f_éuuu’rwmwrwﬁs__,ﬂét( (ix)

SECTION-II .2

NOTE: Attempt any three questions. 24=8x3 -g{;j".;ugﬁ.«,mmﬁ;_éf Oy
5.(A) Describe any two traditional methods to produce electricity. 2 + 2 & ,:»Lbn,(uﬂ A5 fuuc‘il_ﬁég.&? (N5
(B) What is meant by interconversion of energy? 2+ 2 -&& oy AL GAST A sl e ST L LGH (L)

State law of conservation of energy.

6.(A) Explain the charging and discharging of capacitor. 242 -éy—’-’#’ JW;E,&), @{r"( (.6
(B) Whatis AVO meter? Describe its importance. “\ +/€r\ 3 s ]é_”*: I ‘Llf/u‘l ()
7.(A) What do you know about Information T,echn@:gy /ﬂ 2\ 3 'g 1{‘&4%.& u’fr@'ulﬁﬂbﬁﬁwf (Ji)..

and Telecommumcatlon’? \‘ "'\/” 7() \\' C '\\ ‘\/;

(B) Write a note on E- Méﬂ) \ \\ o~ ?\\\‘\'\ NN\ \\\_ A 4 /_“g_,i/ (E-Mail) J§1 (&)
8.(A) What are X- rays'? W{ltb ohly fhr\ea draperties of them. 1+3 ‘u’//fuur"(_)fu/Ju "u‘!.f/;Jrf (-8
(B) What E\II—T%‘J r;xe .;swere uses. 1+3 ~Efe L eGP (L)

\QQ\GL rices of Pakistan Atomic 4 “JLL,LMJJ‘G /IJL'UJLJE"ZJ,“’JJ/LJ/V& (-9

9.(A) i{}l
ergy Commission for the achievement of Nuclear energy for peace purpose?
(B) Write down the four advantages of Artificial satellites. 1x4=4 _qfug‘.ﬂ};lg.ﬁu‘“’wfgfi” )
42-2022(A)-10000 (MULTAN)
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TIME ALLOWED: 20 M.‘Eu{'eé”?f» ‘\“ ™ E&TIVE e 220 = &
MAXIMUM M \115 .{\ \B\S Y 15= AF

/KWWJTJWJ lbfc':.uli...wwcu" u;/bza_:cﬁ-lfédfrf/(éb/db’ U éfc..} D s C B <A uLL?.lenf,dlr/ s
L2421 KLl f‘d;{}:uﬂ‘d’é_/ 7 J’:,b/b -&debkuff’aﬂagﬁulfJL-& S L Lf.;fdubu(,/:_\.f 25
Note: you have four choices for each objective type question as A, B, C and D. The choice _uf d’f = Uiy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Energy possessed by the body due to its position is called: “e;ﬁ&ﬁfff./'bﬁr‘cggfu?i;u:r’?dr (1)
(A) Kinetic energy &/’Jb@gfib’ (B) Potential energy J./'IJ"%'
(C) Elastic potential energy gﬁjrﬂ;uﬁw (D) Heat energy § et
(2) The product of force and distance covered in the direction < b AN e e sl e S i (2)
of force is called:’
(A) Energy 3./ (B) Work s (C) Power st (D) Current il
(3) The way of obtaining electricity which does not e b b Ay S )de’ai&‘g%?: 3)
produce thermal pollution is called: 4/\"
(A) Hydro-electric power .ub._ff’dly %, (B) Nuclear power J)L /jr (C) Bio Gas .:/f D) ’l’he{méf powemLJ/
(4) The conductors having high resistance are called, | | — "\ /; \' " Lu‘?;.-ﬂz(\ rruwu"’u&f i (4)
(A) Capacitors _,.u.u.uS (B hnaulptor?. v f‘h fC3 SWltqhes ﬁr. (D) Resistors J /s
(5) The constant in Ohm' s1a P i . / S _+¢ﬂﬁfauiﬁéﬂ;f (5)

(A) Resistance "3 | \ B) Gharge wu (C) Potential difference /5% (D) Current 22/’
(6) The devLce FN;BW f{des not\aliow Surrent to pass IS (57 S RN B¢ Ry -2 ¢ 2 (W) (6)
thi‘q a P&wt over a certain limit is called:
“(A) Transformer 1} (B) Resistor s (C) Fuse ix (D) Switch Ly
(7) The instrument used to measure current is called: -LLGL_?JJ?EJJ;[L&JTUJ (7)
(A) Voltmeter A2l (B) Circuit breaker /«Qd/;—' (C) Ammeter 4 (D) Switch f;r
(8) Most of the current flows through P-type semi-conductors is due to: -:+¢JLJ?;&)::QJLJ/£(@1J EQ (8)
(A) Protons tss (B) Holes (C) Neutrons 712 (D) Electrons P
(9) How many Hovering satellites can send transmissions i‘ugégg;wjy:djvfdﬂ W Eam (9)
to all over the world?
(A) 2 (B) 3 (C) 4 (D) 5
(10) The process of adding impurity in semi-conductors is called: _r_bﬂn@f&../l_)’bﬂu“luf FEE (0)

(A) Doping ._éu (B) Conductivity (51 2 (C) Electrification u"&J "}gl (D) Rectification u’(u’f
(11) The number of electrodes used on head to get EEG. —csiidii Il il bz g d L4 /M (EEG) SIS (1)

(A) Ten 2 (B) Twelve ol (C) Fifteen s.& (D) Sixteen J»

(12) Laser is used to produce three dimensional image, known as: _uf;iu-.«‘, u’[}'oJJpr/}L;(jJ/?E_-J]J (12)
(A) Hologram rl)i‘ﬁ (B) Laser image ébf_‘ (C) Strands J & > (D) Caller /Xf ~0\

(13) Frequency of ultrasound is: 2\ ~Q M}JA A (13)
(A) Less than 20 Hz |I¢, 20Hz  (B)20Hz ( Zﬁkﬂzr \\él) Mor@hék?ém(Hz »sbie 20 kHz

(14) American astronaut Neil Armstrong stepp@c}rqf(mogm“ \'\ \ \‘\ '\ I _&/l/i/&hlm_fl fnd’-’)wn,_f/ (14)
(A) March 2, 1952 () \ \Mn\z EAR\A \(B’) October 4, G057 1957 431 4
(C) July 20, 1969 \ \\\\ ”\9\3@ ﬁuyk@‘ S (D) June 15,1972 1972 w# 15

15) Total \j:xf\ﬁqqty DPKarachl Nuclear Power -c.yuaﬂdxblé—,gﬂf (KANUPP) _:;Lgﬂkf':ga‘u:lf (15)

P (A) 2K~ 121 mega watt

'( L€ 127 mega watt (C) 21+ 137 mega watt (D) &Is€~ 141 mega watt

42(0bj)( ‘ik )-2022(A)-10000 (MULTAN)
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TIME ALLOWED: 20 Miﬁdtéé.\ Q (\ \', ) BJE/ETIVE ;Z P>

MAXIM ﬁ j@‘\\ ) 1§5= AF
WA 3Lt erse f Ui & vl g Q8017 &5 D 41 C B A OIED 1% a7 RSy
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Note: you have four choices for each objective type question as A, B, C and D. The choice ..u’):d’)‘h.,lllr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Frequency of ultrasound is: urf(, 'ngAJVUJ' (1)
(A) Less than 20 Hz (e 20Hz  (B)20 Hz (C) 20 kHz (D) More than 20 kHz eslie 20 kHz
(2) American astronaut Neil Armstrong stepped on moon: _:__,'ff{i/uﬁ'gufr/"(,wfjglﬁi’/l (2)

(A) March 2, 1952 1952 Gl 2 (B) October 4, 1957 1957 71 4
(C) July 20, 1969 1969 JU:? 20 (D) June 15,1972 1972 ¢z 15
(3) Total production capacity of Karachi Nuclear Power _cl-;{*u»dil:lf;fj (KANUPP) ik J:_l;,".{xi;,a”l/ 3)
Plant (KANUPP) is: (A) L€+ 121 mega watt
(B) Lk~ 127 mega watt (C) =hE~ 137 mega watt (D) i€+ 149 mega watt
(4) Energy possessed by the body due to its position is called: ’MML; /r:ffayﬁﬁhu”f U (4)
(A) Kinetic energy G ¥ (-‘) \ \ \ (B Pﬁ\tanﬁak qrg{y@/wl?—
(C) Elastic potential energy (. fh_}”;‘;ﬁgy \ A\ \\ "- p N e@t @nergw Siles
(5) The product of force aﬁﬂ dl,stance«c;qve,r‘ed m\tXE Qhe\ct’/l;:n» il <_tlJvf;/U’lo K Bon 2 e St ? (5)
of force is called:” ". \ \ '. \ \ '.‘
(A ED@ \ ut]l "\ A 1.' (B) Work s (C) Power sl (D) Current =2/
Th Lqéxjcﬁxjv émmg e{ectnczty which does not f r!irirU;{Vfi;f‘ﬁgu*’/?ﬁ.?g,/"Kdy*’Lé*f’gl (6)

p}éduce thermal pollution is called:
K . A b
(A) Hydro-electric power Al;.J/*.’i,-u:‘L (B) Nuclear power J!L/‘-{%‘Z (C) Bio Gas =¥t (D) Thermal power J)_EL/V

(7) The conductors having high resistance are called: = _';'J_Uff ~m.-gju’2’bJuﬁj_}f}$f (7)
(A) Capacitors 3, trwi$ (B) Insulators ;</+  (C) Switches A+ (D) Resistors J >
(8) The constant in Ohm's law is: dq_.::irjfu:uiliiﬁd (8)
(A) Resistance U7 (B) Charge & (C) Potential difference (5% (D) Current =/
(9) The device which does not allow current to pass -Lz:L,f}w¢:ﬁ;gigmaz/”uﬁa,uf;&zﬁl.:l (9)
through a circuit over a certain limit is called: ]
(A) Transformer G-/ (B) Resistor i (C) Fuse J# (D) Switch ér’
(10) The instrument used to measure current is called: -g_&{eu(cjjl_:uf:f'/auz-"dti‘ (10)
(A) Voltmeter A2l (B) Circuit breaker A//:«-’;’ (C) Ammeter %% (D) Switch ér
(11) Most of the current flows through P-type semi-conductors is due tc: -:c{-._v:Ji./f.:;fnp;,ijjﬂ/ufth (11)
(A) Protons “tsz (B) Holes (C) Neutrons »L2 (D) Electrons )s}ai
(12) How many Hovering satellites can send transmissions Y "-';.Ls'/;-L;LfU EAA ﬂ/,}ﬁmmd/ (12)
to all over the world? p@'\"\&\}; \

(A) 2 (B) 3 ~ &a \\' / o \@}‘—’é’k"/

(13) The process of adding |mpunty in serfi’ Vond ys/}s\céﬂe&{) \ -_vu«{)’uﬂw,wd‘ ,-'/,«.Jb’ (13)
(A) Doping &+ :O Mdp\pt\ﬁt ;5{3(3\ /(Q)\Ele’“trlflcatlon u"”y I (D) Rectification u”"d{

(14) The number of electﬂj o) sﬁoh he‘a@% EEG. -~ A bl bz by ol L& S f (BEG)BUIST (14)

A) Ten ‘m \\ \‘ y (B) Twelve ol (C) Fifteen s.a (D) Sixteen Js
(15W%;\de roduce three dimensional image, known as: ,u*dJJqf cu_’rdlgd’f(a_/sﬁ&/ﬁajﬂ (15)
Hologram rl)?r (B) Laser image Z’:IJ (C) Strands .4 > (D) Caller Vi1

42(0Obj)( *ﬁ)& 022(A)-10000 (MULTAN)
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\ \\ \ \ l. \,J
MAXIMU RSN!S.W\ = 15= AF
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Note: you have four choices for each objective type question as A, B, C and D. The choice -J/C,J'; =y
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The device which does not allow current to pass _U;:Ljfuj_*}/:;g);yu}’_{lz,Lﬁ.ﬂ}ﬁﬁgl (1)
through a circuit over a certain limit is called:

(A) Transformer 1/ (B) Resistor i (C) Fuse (D) Switch &»

(2) The instrument used to measure current is called: -;-L“;?Jjﬁ; Sefe T (2)
(A) Voltmeter 2/ (B) Circuit breaker E/J/ (C) Ammeter x4 (D) Switch ér

{3) Most of the current flows through P-type semi-conductors is due to: ,:9,?;&&_;}?;1);:35:.}}(%67.?&‘@ (3)
(A) Protons vty (B) Holes (C) Neutrons 714 (D) Electrons /':}ﬁl

(4) How many Hovering satellites can send transmissions "u’rétﬂf._—//uf\f:dzwd'u”dﬁ’uﬁ( Sy P (4)

to all over the world?

(A) 2 (B),,,J? 'f ) ,‘ \

(5) The process of adding lmpqnty in semi- condﬂqtcrs ; La LC’MJJ‘KL/JL’U SIS (5)
(A) Doping Jn O\ (B%Goﬁaud\tiwwjf {C) Electrlflcatlon (f”yfﬁ' (D) Rectification u’gg %

(6) The number of ele\c[rodes.used on! héaeHo get EEG. _r_:wJJn/QILhz_lw_@//qf_Lz_./u (EEG) Jd1d! (6)

Tef \LM N (B) Twelve .\ (C) Fifteen »..z (D) Sixteen J»
(7) é?‘t Nk used to produce three dimensional image, known as: -u_TL:‘Lfvf 'L,f(}L?U(J’b.ﬂ@U;J—’fGOJ (7)
h( A) Hologram rl)?n (B) Laser image &L (C) Strands jiz > (D) Caller /¢
(8) Freguency of ultrasound is: _gu"’;{/‘d’iiviﬂl (8)
(A) Less than 20 Hz [fc. 20Hz  (B)20Hz (C) 20 kHz (D) More than 20 kHz sl 20 kHz
(9) American astronaut Neil Armstrong stepped on moon: -t—f'gi/d;'.lg—f')‘rﬂdff'tﬂ;h{/' 9)
(A) March 2, 1952 1952 G 2 (B) October 4, 1957 1957 451 4
(C) July 20, 1969 1969 JU:’. 20 (D) June 15,1972 1972 ¢z 15
(10) Total production capacity of Karachi Nuclear Power el S (KANUPP) sl A28, (10)
Plant (KANUPP) is: (A) <hE~ 121 mega watt
(B) &€+ 127 mega watt (C) L€ 137 mega watt (D) b~ 141 mega wa/tt
(11) Energy possessed by the body due to its position is called: _%uﬂ*’@/'}i ‘LA?’L;L'ﬂJ{.'L/:f{U) (11)
(A) Kinetic energy J./ ¢ (B) Potential energy JJIJ"'?
(C) Elastic potential energy d)la.,}}%_ﬂm (D) Heat energy ./l
(12) The product of force and distance covered in the direction ! t‘i)?(-:—/;’uwb (74 GH/('LU:ML&’J}H’U?; (12)
of force is called:’ b \\ § ’ \\ XA\
. (A) Energy §./! (B) Work s A (qz ga,wer\\, D}\ oy
~ (13) The way of obtaining electricity which F’Q?S ndfaL: /(i \§ \ \ \"ﬁ\ﬁ:tzm:’gf/i_a/’b’df’i & (13)
produce thermal polluhgmﬂ called: i~ \ \//\ \‘\ QS \/v B
(A) Hydro-electric powermg*ngﬁﬂ \ (E§l {\!u}: pbwer ALf‘fz (C) Bio Gas u’—r;:’g (D) Thermal ?ower J.‘_.L:J/;

(14) The conducto\rs—t{ﬂlmq mqh\resvstahce are called: «p{??—llﬁ{ ‘ﬂMLJ'Lf‘?JJQP'J—' 2 (14)
@Jd&;\k\,fw (B) Insulators ;,‘..'r" (C) Switches ffr (D) Resistor.s by
15)Vﬂl\e£onstant in Ohm's law is: s :J-—qui'uib‘éﬂl (15)
(A) Resistance J”L (B) Charge Lk (C) Potential difference u"’-/:d’”::f (D) Current el

42(0bj)( ***)—2022(/—\)-1 0000 (MULTAN)
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TIME ALLOWED: 20 M‘r%éeﬁ\“ 0 0\ «\ ‘\hBJEfTIVE ;z':g.-o

MAXIMUM% \115 AR\ B\BAe : 15= AF
/lJJE"’dWLV’?JJJa.uf Ul s L Sy 6012 - L3 D 1l C B A eli2elpl vy S

{;{.jlr'u' [ _falcbu'f/(jf;ﬁuu‘gfi.ﬂ4 J{J:/b _rx.r:‘.)bﬂul_?uﬁufn_w‘gfd./’; Jo¥ L L—/J‘J}/fﬂJLJf_A—ﬁ ’8,'.)
Note: you have four choices for each objective type question as A, B, C and D. The choice _qLJ&..».ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The conductars having high resistance are called: dugf_&f xm:LJJ""JJJu’-J}CJ (1)
(A) Capacitors ) yiunS (B) Insulators .i_/-iﬁ'l (C) Switches /fr (D) Resistors J i

(2) The constant in Ohm's law is: _a‘:_:;i/’f;)fd}{?‘f;r‘?:l (2)
(A) Resistance J‘b’b (B) Charge &k . (C) Potentia! difference u"* 'U’%’ (D) Current el

(3) The device which does not allow current to pass -L‘;_Ji..z.'r{)':‘i.'/'/::pc.wu}‘upc_uf-‘.f;’:?.ﬁ (] (3)

through a circuit over a certain limit is called:

(A) Transformer &1/ (B) Resistor i, (C) Fuse b (D) Switch L;r

(4) The instrument used to measure current is called: < dbuq"r JJ@.J".JM (4)
(A) Voltmeter ~'2/s (B) Circuit breaker /(/._6/ ) Amme{erl[ ,;h-l’ , (‘D) S\WI(Ch_,f/L"

(5) Most of the current flows through P-type sem| conﬁluctors gsdué u:u\ N\ c_,.a;f&vy._fﬁ:u;;/ﬁu"_fuq (5)
(A) Protons iy (B) Hoies /’n \ l/ .' \ ‘\ \ (C) NéUtroms /l}r' (D) Electrons n/af

(6) How many Hovering safe)ﬁes carr sénd &ansqﬂ\pr\s /; bl (‘J~£ts:§u /_f I.au‘;L«/’/Ju’ e Eand (6)

to all over the world?

(A) 2 J\‘lf“ WY gy 3 (©) 4 (D) 5 }

(7) 'I'ﬁej r}x}abe\%\aJ adding |mpur|ty in semi-conductors is called: _LtLLU‘;{c.)’JL»ng“Iu* Py (7)
Y(A) Doping &5 (B) Conductivity (5 2% (C) Electrification u’»'“@ gl (D) Rectification U,KJC

(8) ‘The number of electrodes used on head to get EEG. el ls5 L ni bz 8, L1 SV (EEG) Gy (8)
(A) Ten o (B) Twelve sl (C) Fifteen s.x; (D) Sixteen J»

(9) Laseris used to produce three dimensional image, known as: -ujJJJff «ugJLgJJ”b_nLJJJ,-i.a.;;-_j (9)
(A) Hologram f"’@” (B) Laser image &L (C) Strands ik (D) Caller /¢

(10) Frequency of ultrasound is: e M EA (10)
(A)Lessthan 20 Hz (= 20Hz  (B)20 Hz (C) 20 kHz (D) More than 20 kHz st 20 kHz

(11) American astronaut Neil Armstrong stepped on moon: _./__}I{i‘dlﬂgf!}/(ﬁﬁjgu%{/l (11)
(A)March 2, 1952 1952 &l 2 (B) October 4, 1957 1957 ,cfff 4
(C) July 20, 1969 1969 {12 20 (D) June 15,1972 1972 Uz 15

(12) Total production capacity of Karachi Nuclear Power -"‘_;fLLﬂd.-fJ'g:JJ (KANUPP) Jj&{,::g}.:ﬁ;é@,lf (12)

Plant (KANUPP) is: (A) i€ 121 mega watt

(B) <€+ 127 mega watt (C) 1€~ 137 mega watt (D) LbE~ 141 mega watt

(13) Energy possessed by the body due to its position is called: _ad/AJj/bf»*c.,»ﬁ(e\f%{Q‘f)ff (13)
(A) Kinetic energy 6.)'.@'@( (B Pote;ma enemb‘/@) er—kxp\k—j e
(C) Elastic potential energy J/U"?wul O \ \ c IDj\ Héga(e‘nér S /lLf»/‘* L

(14) The product of force and distance Cﬂ/er\ad u;rfﬁ\e d‘nye(l})n\ \) \ \ ‘c.,tﬂf.{.ful’b K2 batl ferdodais?  (14)

of force is called:” )\‘\ \‘ \“/(:“ 0\ \.\'\ \ e

(A) Energy gn AR\ \ \(B)Work 7 (C) Power s} (D) Current &2/

(15) Thew @ecxhcrfy A — — CWL R A S ML SR (15)

m}wr pollution is called:

(A) Hydro -electric power J}LJ/G‘.U (B) Nuclear power JJ&_/’-’E&’: (C) Bio Gas uif;fi_. (D) Thermal power JJ&J/;
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2022 (A) s
SSC PART-ll (10th CLASS)
GEMNERAL SCIENCE GROUP-II

. '(/_)
TIME ALLOWED: 2.10 Hours S}LBJEQ Vﬁ“ﬁgﬂ‘ CAY) 210 = &b
MAXIMUM MARKS: 60 _ 0 \Vrie \( C . 60 = AF

= \ \/ =
NOTE: Write same quqegthJ\n ;rmrﬁbqi' \ -cb»uﬁ%_/.llr.ﬁ?cf: (e J:I/Ulr(ﬁ;{Qb’Qlﬁ Y
and i nu bﬁr on' énswer book, as given in the question paper.
R

o
] SECTION-I il
2 AMpt any six parts. 12=2x6 -:{/f._«tlidf.l/"lic_df _240y
()  Define potential energy. c‘:_ai/’JG/lf?‘ (i)
(i) What is meant by heat energy? "..LJ/LIC—J/IOAJV (ii)
(i) Write down the two causes of thermal pollution. ey f,wmﬁﬂyd/ (iii)
(iv) Describe the two uses of capacitors. Skl E (V)
(v) Define random motion. 45‘:._51 /JJ’T"‘C’ (v)
(vi) Write about any two switches. -t_]f‘{)fc_JEcC- Fvwe 3 (Vi)
(vi) What are photodiodes? SELIIF1E (Vi)
(viii) What is meant by cable T.V? “L;ﬁ/lfa_ds_df' (viii)
(ix) Write the names of any two parts of computer hardware. -Q/frliuﬂ’ ml,uc:,dféﬁf‘ (ix)
3. Attempt any six parts. 12=2x6 -é/fuyliéf?liadf 34
(i)  Define Electrical energy. -uf_ﬁj’gfd/l;ﬂ/al (i)
(i)  Differentiate between Solar energy and Solar power. ..gf/()}d-‘-'u&)ruld/l/r (ii)
(i) Define Geothermal power. I flAz i
(iv) Write definition and equation of electric current. u"g..hunf._n)/"‘fv/f/ﬁl (iv)
(v) Define Step-down transformer and what is its function? “z:bf P’KJJM&?J& Wl/w;l)._/’ (v)
(vi) Write two uses of alternating current. 2 ‘ ,_MWG}ZHX&/ T (vi)
(vii) Define P-N junction diode. _Ew lenBd (i
(viii) What do you know aboutE.E.G? . VZAR RO R\t ) ‘U“c..lpbf..alu‘gﬂd’:(f S8 (viii)
(ix) Write the function of elsgc\ron gun m cofourteév}smﬂ\ = qfffﬂf?ﬂfﬂ'u"uﬂ&){ (ix)
4. Attempt any six ?arts \ ) -L..‘: o 12=2x6 _égfagmélﬂg;d{ _a 4
(i) ﬁ@lé et PRL AT ()
(i) aﬂ ﬁb/o properties of Beta radiations. ] /ubvur"ufﬁfduv (ii)
(ii) How is steel made harder? te gkl |4_.:,L/”L// fu*dr“ (il
(iv) What is the difference between C.T.Scan and MRI? CLQ/LU (MRI) 7/7¢ u,u"‘dg (iv)
(v) What is meant by Pharmacy? el Vel (V)
(vi) Write down two uses of ultrasound. e el s (i)
(vi) What is Metostat? Write one use of it _o g sl (vii)
(viii) Write two uses of nuclear radiations in the field of medicine. EE fe Wl YA AL Rl (Vi)
(ix) Whatis meant by Hubble Telescope? 94'._)r/L_JT—__,;¢JfJ." (ix)
SECTION-II

NOTE: Attempt any three questions. 24=8x3 _é-f{f"al,lﬁa’:.:«mfda.éf L
5.(A) Describe any two non-conventional methods of 2+2 __a_{ulr.éi.)’&_lujfu.:.gjﬁ&r“’.ﬂd"“}gl (-5

producing electricity.
(B) Describe any four steps to minimize environmental degradation. 4x1 #éuL«Vtwbbadféa_.fﬂfd/id’dﬂ (<)

6.(A) Explain potential difference with example. 4 _iu?U:JJ')JJ’L});.:JV (-6
(B) Write a detailed note on Galvanometer. 4 .{;O_,ic_,f}*'%\?{h'f ()
7.(A) What are Radio waves? How the radio transmissions 2+2 & " _/ ﬂ:«,@@mﬂkw}‘ﬂ (-7

)\ ~ N\ ~
are proceeded? T g’\( A\ C Ao
1\ (_/ —~ )\ \ \ \ \ \ \ /
(B) How does the television work? ‘\\ r, \J N\ .\\\ U \\\,4\ . U ‘.‘.g_dt'frb’d_luz:di )
8.(A) Write four uses of | @er \, ,\/Af‘\ \ V \\ - j,\ \ "1 x4 _fauwwéxfj (3-8
N
(B) Explain the prmcnplei df‘ﬂnr‘a &ntlds\ ‘\ \ ~—-'\ 4 ﬂggyuju(d;‘lﬁu’@'fﬁ’{i Cas)

9.(A) Write a mﬁﬂlucl‘ea \P,Uwer“P]ants of Karachi and Chashma. 2 +2 &Ub.i/u"‘hut./l:ié}zuldl (.9
ose of establishment of institute 2+2 c._ub_fLMdJ ﬂ,»ﬂ*b’ru.iul;l PINSTECH ()

( %N r@s;
BQJ STECH and its services.
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PAPER CODE 2022 (A)

IQJMBER'3092 SSC PART;“‘ (10th (ifo\\\SghK :

GENERAL SCIENCE GRoﬂP,Hr \( 0 \T\\) WY

TIME ALLOWED: 20 Mmtes‘ (\ 0 <DBJEf:TI\/E 4 Sy 220 = =D
MAXIMUML eNBm I\ 15= A8

.,/uwuwé.,vbm(_ut u,;uia.;.::.uédxrm_é(dw -SLED HICBA ezl vy o
/.g/,ﬂr’u’ 1 —gé-UL)ij’ /"dfufuJﬂJL—):4 J’L/Jsfb g}f)}“’b“uL?nJJfﬂ}tnyJL/Q o L d_.fd/u.ubul.xc.uf 2
Note: you have four choices for each objective type question as A, B, C and D. The choice -/ LJ’ );:AJLV
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) The S.I unit of work is: ey SIEL (1)
(A) Newton (/s (B) Ohm (%l (C) Watt s (D) Joule Jz
(2) Amount of electricity consumed by a 2500 W AC in one hour is: _c"_.l:'/U{«‘:’J(jJ"}glfq fé’_.g A.C U_C'lbf-:.l; 2500 (2)
(A) <4 2.5 unit (B) < 2.00 unit (C) =% 1.00 unit (D) «x¢ 100 unit
(3) Ethanol is produced by alcoholic fermentation, K .?J:Gﬁ‘aéndﬂbdﬂlp’-la/ﬁ.ﬁnm (3)
which is the substitute of:
(A) Kerosene u}fgc( (B) Petroleum %% (C) Gasoline JJH‘// (D) Natural gas gffduﬁ
(4) The unit of current in system international is: WJ’U&/!{” (4)
(A) Farad 317 (B) Ampere &5 _ - © qu/_a&; , | 7 D;Waﬂ =i
(5) Device which does not work with altemating curtent gAt sJ' \“\ = -Dﬂu" L i B T (5)
(A) Television und’ B Fan uﬁ" \ Y \\( (D) Iron (!
(6) The electric potential oﬁr%eutral wlre 1s W AN —?—L}ﬂdﬁébj//‘i?!&jbdj&: (6)
@200 7\ \\ |\ ) 48 8220 i (C) Zero 3 (D) 1100 sekizfl
@ No;vﬁ ;fﬁ}nbdéme e place of fuse is: ) e ez LT (@)
N\t breaker £zt % (B Plg [ (C) Switch & (D) Socket f1-
(8) In periodic table Germanium is found in the group. -‘;él;uﬁ:,:,{f’-é J"’._ﬁyg(f?f (8)
(A)2nd o (B)3rd « & (C) Fifth /%L (D) Fourth &
(9) The number of pictures completed on television screen _c_Janw&!;z_.rd{fﬁ.y )ﬁ (Org) J" (9)
in one second are:
(A) 20 2 (B) 25 U3+ (C) 35 /55 (D) 30
(10) In P-N junction "P" part of the diode is called: e vpr aisfu‘_f:uﬁ@w-q (10)
(A) Cathode 5% (B) Anode 35 (C) An ion Tt (D) Cation /"
(11) The frequency of ultrasound is: -;e&ﬁtf;;{fﬁfb"ﬂ’ (11)
(A) Less than 20 kHz (':;y};;f 20 (B) Equal to 20 kHz /.!417’;)/20
(C) Greater than 20 kHz ssljc 75 20 (D) 10 kHz % 10
(12) In optical fibres each callers voice is changed into: -c_l'wU’xL;lJ)K/JJ/ bﬂl (12)
(A) Light signal ufJELLﬁJ (B) Radio signal u‘J"':‘i;
(C) Electrical signal u:JfJé;?u (D) Sound sxgnai PIL T
(13) The test which is preferred these days to _c.dlpu’:Z, #.ij’;’" J @*} uﬁ)c’/y’ur@‘ (13)
diagnose central nervous system disease is: e : \ \ ﬁ ﬂ -
(A) C.T Scan o i g\:en e -\‘Q@nﬁm B (D EEG gyl
(14) Pakistan joined the c@\nés ;Qo\ \\ \’ e i b ué,uafj_»w/fu‘wuu’ L (14)
nuclear capability in: \ \\\ \'\ \'- \ \)
(A) L& AFT l J\ VL B)u:ngg?AD (C) U 1948 AD (D) % »1998 AD
(15) Nj\L é‘t-lon of research reactor PARR-I| is: v:‘d;guﬁdﬂsl,y,gf PARR-II }5@/.’1 (15)
1A) €10 Mega watt (B) i 27 kilo watt  (C) 2l 10 kil watt (D) L1s+20 Mega watt
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PAPER CODE 2022 (A)

&

NUMBER: 3094 5S¢ PART\ e TOth CL&\S\ CAL:

GENERAL SCIENGE /GBQUI’ 1i A\ CR\BA S b - st FAd
R —\.‘ \ o ®

TIME ALLOWED: 20 Mmutas (\ "x %BJECTIVE Y s 220 = &y

1]

Wujvw)dm\x? 15= AF

TAdr o3 Ml Nz e s s\l e 36017 - f LD 19 G B oA bzl -2
44Ut Kbl /d)",ﬂ.,m&.,ﬁ4 J(JJ/L‘ _for"bkul!aJLlﬁquJL/Q JaF i L/Ju;/fml.zc_\.f L))
Note: you have four choices for each objective type question as A, B, C and D. The choice -q):d’)iumy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Now a days the device used in place of fuse is: -%dev?fﬂgiﬁ,;&:é‘fw (1)
(A) Circuit breaker )://.:z;’ (B) Plug ..IE (C) Switch f;r (D) Socket 2

(2) In periodic table Germanium is found in the group. _‘gél;uf%:ffﬁd"’;@gﬁrf&;? 2)
(A) 2nd & v (B)3rd <~ (C) Fifth (/£ (D) Fourth £ 2

(3) The number of pictures completed on television screen -:‘-_;w@,wuu;_m)’u:;&p{q}uz,df 3

in one second are:

(A) 20 (B) 25 & () 35 S5 (D)30 &

(4) In P-N junction "P" part of the diode is called: o *‘_;.cffaa"@’ ‘ﬁuxum‘&f’w (4)
(A) Cathode 357 (B) Anod?_)ikl (0) Kfmi ] bff‘urlr (e, \(D)-Eation o &~

.' ,- cednE AP (5)

(5) The frequency of ultrasound is: B
B) Equa| to 20 kHz 2L 725 20

(A) Less than 20 kHZ, r‘fc.%f zo

(C) Greater than 21) kHz uw_kﬁ? 20 (D) 10kHz #:% 10
In opticalfj h callersvorce is changed into: _c..tbLUy:CisiJ)E’/uﬂzf bd{’ﬁl (6)
A ) ﬂ!u) ljé T @nal L,..J’CLu’u (B) Radio signal L,"J"Su;
(C) Electrical signal J« * Jgfgi (D) Sound signal u'.f;}{f.,},l
(7) The test which is preferred these days to -i‘-&@rd:é}fn_"dﬂt_ﬁééﬁ szk:-u-"r”" u’u’dﬁf@? 7)
diagnose central nervcus system disease is:
(A) C.T Scan utﬁ,’%_u (B)E.C.G {E-y-! (C)MR.I ST f (D)EEG {g-JI-y
(8) Pakistan joined the countries of world bearing et W_béx_-,jﬂwdﬁﬁuf o L'fl__, (8)
nuclear capability in:
(A) U* +1978 AD (B) L* +1997 AD (C) U~ +1948 AD (D) J* 1998 AD
(9) The production of research reactor PARR-I| is: ‘.;_.;_»wdjr,r,gtf PARR-II }5@/31 (9)
(A) =1£+10 Mega watt (B) ik 27 kilo watt (C) 215 10 kilo watt (D) L1E+20 Mega watt
(10) The S.1 unit of work is: ey SIEs  (10)
(A) Newton ¢/ (B) Ohm (4 (C) Watt 21s (D) Joule J2
(11) Amount of electricity consumed by a 2500 W AG in one hour is: < &/Ue1 #1554 L0 AC K2l 2500 (11)
(A) = 2.5 unit (B) ¥ 2.00 unit (C) =¥ 1.00 unit (D) 7 100 unit
(12) Ethanol is produced by alcoholic fermentation, - 4@%¢W@yﬁ}@!& ,J.u»ﬂ (12)
which is the substitute of: o =3 AR O
(A) Kerosene 232 (B) Pem‘.ﬂ:ﬁm (ﬁj-r/ { \ &C‘)\ G&lsbt:ﬁ]evf -V /\ FD) MNatural gas u{JJ
(13) The unit of current in sys{em mﬂa/rnanc(néa fig | \{\ -’3 \ ‘\‘:’,h W= Y- 6 )
(A) Farad 31/ ‘TJ ARINERAG! \Arﬁpe g5 (C) Volt & (D) Watt =1s
(14) Device which does nbpt Work\\wi-thaﬁtéfnatlng current (A.C) is: et s S BRI (14)
\h\\é}\ },J’ (B) Fan L& (C) Motor A (D) lron (!
(1 5)\\Jﬂ\9electrlc potential of neutral wire is: -‘L&ﬂﬁ_ﬁglz}///!sd}ﬁ (15)
(A) 200 s (B) 220 v (C) Zero (D) 1100 sl fi
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PAPER CODE 2022 (A)
Qmeer: 3096 SSC PART- \"\(wﬂf f? \\‘
D \ \‘_J‘ \ “\ \ \ \\ | Z o
GENERAL SCIENCE, GROUE}«IIA \(O A\ U il
‘ . /’—
TIME ALLOWED: 20 Mlﬁl\tes‘ 0 ”\ \\ bBJECTIVE S @20 =
MAXIM F\&Us o\ I\ 15= A

b,.ul:«’d‘ﬁféul?urwcu: U5/’J£4-J¢.Vd:d1f//éb/d'i -u*;Cc_} D.sJC:B-A u“)”—rﬁ'ﬂéd'f/‘ d
{g{{lru’ [ _&_t,pu:j-.‘dfutmﬂJA_L4 J’:JJ/JJ ..b#yw"’wylﬁuﬁgﬁ.:uy‘JL/Q ,Q,( L A.f,;fummg;;_.__( B il
Note: you have four choices for each objective type question as A, B, C and D. The choice -q,&d’);@ﬂlr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Ethanol is produced by alcoholic fermentation,
which is the substitute of:

(A) Kerosene g-j_":[ (B) Petroleum ff:,;’@
The unit of current in system international is:

(A) Farad i (B) Ampere %l

(2

(3)
(A) Television u‘{;ulf (B) Fan uﬁ
The electric potential of neutral wire is:
(A) 200 »4 (B) 220 v
Now a days the device used in place of fuae |s_7( \)y
(A) Circuit breaker ,[Ju} B, ?’tu“g"‘ .
In periodic table Germamum ls\ fo’uno\lh the
(A) 2nd ;ﬁ,) \[ ’ 1% (B) 3rd 4_/
Th? N\L}lrﬁ\bﬁf\\%f btc dres” cornpleted on television screen

(5)

(®)

in \@Aevz,econd are:
(A) 20 (B) 25
In P-N junction "P" part of the diode is called:
(A) Cathode 37 (B) Anode 35!
The frequency of ultrasound is:
(A) Less than 20 kHz (e %58 20
(C) Greater than 20 kHz sy 775 20
(10) In optical fibres each callers voice is changed into:
(A) Light signal Lﬂd‘félﬁ/
(C) Electrical signal uﬁﬁﬁ;‘?'

(11) The test which is preferred these days to

uF

diagnose central nervous system disease is:
(A) C.T Scan -5 (B)E.C.G G-u-il
(12) Pakistan joined the countries of world bearing
nuclear capability in:
(A) L% 1978 AD (B) u: ;199{?1—\0 \ \
(13) The production of research reactor PAF\R Ml \ ( ”‘ \
(A) 215€+10 Mega @k{ \C | \,S(u
(14) The S.I unit of work,gs \
B) Ohm (%

1o 3

(A) =¥ 2.5 unit

(\

\
\\ \\\\,,
’ )

AR

(B) ¥ 2.00 unit

Device which does not work with alternating current (A.C) is:

\ \ '\_/ \ _.‘ \r
)\ “«(.CYSWT’cch br
N _/»-)

~ group.

) e
é@k&lé\w&ft’ ©

<1 ﬁ'dlr

§ Lad:l_;.(i:.f_.;jng}"bd;w"’c../:‘iﬁum

(C) Gasoline oY (D) Natural gas U (.5

g S
(C) Volt = (D) Watt &1

Dot saS BT T
(C) Motor (D) lron g1

e
_(C)zer” fe* \ | /'" D}m:m A fubedl
\\ -¢dyJMm sl ST
(D) Socket /1
_.:_én,u:?,,fJL&LﬁLﬁr-‘yz
(C) Fifth (/£ (D) Fourth & 2
‘.lLJ’);J{}[/;f.dﬁi—ﬁtj{}:l;?ug{uf;@zﬂf

(D)30
e P Lgnt gy
(D) Cation /&
“c_&ﬁu‘;;g)&zﬂ/l/’{i
(B) Equal to 20 kHz i 574 20
(D) 10 kHz 7z 10
e b TE 2 T
(B) Radio signal u"d’g‘u
(D) Sound signal g!g}'gﬁ.zl:l
..{'_.Jl.ou@é}!r-.‘/::(ft{l-f-(f? :;th-:ﬂf;/ AT

(C) 35 J5

(C) Anion ¢ Tt

() MR T T D)EEG F_gy!
_anL"f'ufJﬂJJVle".:JH? Xul/rt.

\ \J |

& A
/1\6\2 c,(f\ é\ \% . \/(%mf #1998 AD
\'\\ e - i;‘;h.{ww,u_gd’ PARR-I 45,2
<1 10 kilowatt (D) L1s£+20 Mega watt
-2y S ¥
(D) Joule J#

f"

(C) Watt /s

electricity consumed by a 2500 W AC in one hour is: qc.t‘/db“l u“-;ﬁ:u""u:.g”..g A.C {621, 2500

(C) = 1.00 unit (D) <y 100 unit
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PAPER CODE 2022 (A) J) Y e

& ] & z \ \}(i \j‘:
NUMBER: 3098 ssc F:\RT‘II (10\th CLAS\S) > ;) \\d\;:_;&z, J

s J‘ /f‘" \.\f\ —\'\ \ \\ ‘\ \ \ \, Iu
GENERAL SCIENCE GRoUml\': Q\BIV Y U s - end Sz

\m’

TIME ALLOWED: 20 M\nukes\. \ \

})BJECTIVE S

VW

220 = =

MAXIMU Wkﬁ\% s 15= A5
)&,bﬂ, J a/b,ub'(_}'lbfﬁuli._/m;u" w/l)za..x:.w:db’ff{éfdii U*Zr_.: D . C B A uLli.fJbLJlff i

424Ul Kbl /deﬁuJ"‘JL-; £ J(Js/l: _b’mﬁwutfu;i‘,ﬁumJL/Q Sok 4 J_/Jw/lwbc:._f &,
Note: you have four choices for each objective type question as A, B, C and D. The choice ..u‘/ J’f = Uiy

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBL.ES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) In optical fibres each callers voice is changed into:
(A) Light signal 25 5
(C) Electrical signal ufJ’fLﬁ.}_aﬁ
(2) The test which is preferred these days to
diagnose central nervous system disease is:
(A) C.T Scan -5 (B)E.C.G G-iylS!
(3) Pakistan joined the countries of world bearing
nuclear capability in:
(A) U~ +1978 AD
(4) The production of research reactor PARR I lS =
(A) 21sE-10 Meg?«ﬁgtﬁn o
(5) The S.I unit of work is (

(B) Ohm e

(B) 997 AD (| _ (©) 47 10%8 AD/ ¢

~8))\ us:ﬁ’\ﬂ kuow:am' w) _,mf 1_0 kilo watt

A Ay

e b T A B AT
(B) Radio signal ufﬁL
(D) Sound signal ;J.‘.._}’CLAJI

¢ Qe b L LA Gt i FUT

(C) MR T LA (D)E.EG G-dlyf
nJL«u".ﬂJJ L/A_u&;,»wufyuiwud L

I '& Y & )

gBj ;1998 AD
5 \.4__,&@!,@{{ PARR-II 2,2,
(D) L 1:£-20 Mega watt

_L_*.-'g S.1 60
(D) Joule ¢

(C) Watt s

(A) Ne ﬁl’ \ (W
(6) Am Nj‘l \ofwtgﬂélt\} loonsumed by a 2500 W AC in one hour is: -C_t'/Ul?“"JLr‘fﬁllfw\}té’J iA.C ..f&’._AJ 2500

A) ..d 2.5 unit (B) £ 2.00 unit
(7) Ethanol is produced by alcoholic fermentation,
which is the substitute of:
(A) Kerosene ui'l,:( (B) Petroleum ﬁyj—;
(8) The unit of current in system international is:
(A) Farad 3i2 (B) Ampere &

(9) Device which does not work with alternating current (A.C) is:

(A) Television wisf (B) Fan &
(10) The electric potential of neutral wire is:

(A) 200 s (B) 220 (s
(11) Now a days the device used in place of fuse is:

(A) Circuit breaker £z2/r  (B) Plug &
(12) In periodic table Germanium is found in the
(A)2nd < 2 (B) 3rd

(13) The number of pictures completed on television screen

in one second are:

P &
\ \\ — "I‘ { M
W20 @)2@0?{ (O L)
(14) In P-N junction "P" ﬁa&ofvhe diodes calte\d\\ P
A) Cathode _ Jr”:‘-/ \\ \\ \ U B)—Anode i

(15), Th\g@b,&@*u @s\cund s:
Sthan 20 kHz (= 70 20

(C) Greater than 20 kHz wlic % 20

group.

(C) =% 1.00 unit (D) < 100 unit
¥ ;.JJL;fkq_(}ﬁfbdfb’-lof.ﬁnﬁf

(C) Gasoline u‘»Jrf (D) Natural gas u’ffbﬁ
bt o
(C) Volt s (D) Watt 21s
e e/ BT
(C) Motar 2+ (D) tron (=1
-g_&ﬁﬁ‘_r/:gfd//’bdfﬁ
C) Zero * (D) 1100 »fltx L
e G ysn LR ST
(C) Switch & (D) Socket /1
-‘Lél,uﬁ_,;ffésféﬂLﬁf-'k}l
(C)Fith y£L (D) Fo/u:th g:zr

A «/'\ %ﬂ;frwaug,,\,;@,} Jj/tf } vl

(D)30 o
—pdie e ipstPyd
5L (D) Cation &~
-C-J LS5
(B) Equal to 20 kHz e&#7% 20
(D) 10kHz #¢# 10
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